E1 R2(E~HC B M PEHEER

o
aX ;B

AS5300:Cisco I0S — EEZIhEEF(VFC) B BB M

HEBRE1 R2#FE
debug#ishowfi &
&8 528 1 TR 451
tHEIE A

s

ANERETERE1 RRETHLFNETHTHRE . FERBRAHEAdebugls S HEHRET

o

AE  EAXNEZN , BREE TREE1 R2ETER.

DR
ER

ERMAR e , FREEHEATLERSF

- REFEERARE

. Cisco MC38103¢ IS T X BER21E T,

. E7£Cisco 2600/3600R 5t H2s LiBEITR2ES , BEUTERE : VWIC-IMFT-E15VWIC-
2MFT-E1=5VWIC-2MFT-E1-DIAR AT REEZEEH 2 — : NM-HDV(SZEE SR EH)%K
NM-HD-2VE ( 2iEfEIPEAE S /EEHRREH ) .

. FEE1#8#88 ( AS5x00, Cisco 2600/36008& 88 ) L E % on ©ds0-group(Zcas-group , ER
Cisco IOS®RRAS),

. fEA WS cas-customA T RIE R i [E B ERE1 R2EHE,
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5 i P
AERPHEFARRBUATERENBEERRA

- ZRHCisco IOSE B8R 4~12.0.7THY Cisco AS5300
B : E1 R2ES BB AZICisco IOSEBIRA12.1.2XHF12.1(3) T A B Cisco 2600/3600 % 512 B 58

o

AXHFNEFRRBREEREREANEENEL. XHEH Uﬂﬁﬁﬁﬁéz%‘%?ﬁia/ﬁl‘% ( aR
) BVIERERE B, MREHMERIEEER | FRACCHEBIMES TRERNEE,

&5
MBXAEOINFAET , BSHENEMRTIE.

BUE
RERETHAREEET R2VE~A,
AR ZEEHABANEFRANGTNESES  F2RHTEHTS(EREMREF).

AS5300:Cisco 10S — SEF TheEF(VFC) I MEA

f£Cisco AS53003 HES R EHEE1 R2E T 28l , SR IEHCisco IOSE B iR A EEE 118 4H P AY Cisco
VCwareM%& ., &EMF2Cisco IOSEBEAM , 552 ECisco AS5300#YCisco VCWaretE & 4 45 i
o MEMATHE , ITEHARE %‘F':FE’J%LLEHEJ’%JEEE%E(DSP)E%E RS HETEIARERE

o

BE , iR Cisco VCWarehx 4 EdCisco IOSE B THZ , Bl L& A show vfc slot_number
mterfaceup SREIBLER , WARBIFTR,

eef ] e!show vEc 1 interface

Rx: in ptr 18, outptr O

Tx: in ptr 14 outptr 14

0 in hw queue, 0 queue head , 0 queue tai
Hardware i s VFC out-of -band channel

Interface : state RESET DSP instance (0x61048284)
dsp_nunber 0, Channel ID O

TX outstanding 0, max TX outstanding O

Recei ved 18 packets, 1087 bytes, 0 giant packets
0 drops, 0 no buffers, O input errors

121 bytes output, 14 franes out put

0 bounce errors 0

DSP nodule 1 is not installed
DSP nodule 2 is not installed
DSP nodule 3 is not installed
DSP nodule 4 is not installed
DSP nodule 5 is not installed

f£show vfc slot_number interface@n 5 1 5 — B L E5IF , DSP nodul e nunber is not install edfE

AR RZAE BRI TR
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S4B E 28| A T EMECisco VCWarehlR AHIDSPEAER R -

eef j eishow vEc 1 interface

Rx: in ptr 24, outptr O

TX: in ptr 15 outptr 15

0 in hw queue, 0 queue head , 0 queue tai
Hardware i s VFC out-of - band channel

Interface : state RESET DSP instance (0x618C6088)
dsp_nunber 0, Channel ID O

TX outstanding 0, max TX outstanding O

Recei ved 283288 packets, 15864278 bytes, 0 gi ant packets
0 drops, 0 no buffers, O input errors

1416459 bytes output, 141647 franmes out put

0 bounce errors 0

Slot 1, DSPM 1 (C542), DSP 1, Channel 1
State RESET, DSP instance (0x61914BDC)

TX outstanding 0, max TX outstanding 8

Recei ved 0 packets, 0 bytes, 0 giant packets
0 drops, 0 no buffers, O input errors

0 bytes output, O franes output

0 bounce errors 0

Slot 1, DSPM 1 (C542), DSP 2, Channel 1
State RESET, DSP instance (0x61915100)

TX outstanding 0, max TX outstanding 8

Recei ved 0 packets, 0 bytes, 0 giant packets
0 drops, 0 no buffers, O input errors

0 bytes output, O franes output

0 bounce errors 0

EEREDREMCisco VCWarehR A |
R :

B
£

Afn S show vic slot_number version veware , 21T 43l

eef j e!show vfc 1 version vcware
Voi ce Feature Card in Slot 1:

VCware Version : 4.10
ROM Monitor Version : 1.2
DSPwar e Versi on

Technol ogy : C542

& : ®E{RCisco VCWareHi fii iR X ( c5498ic542 ) B2 E R HIVFC DSPH: i (DSPM-542: B 2 E 5
EXERDSPM-549. 8 FEEE XE).

ECME1 R2
SEREAT ZBRUEIEET R2:

1. REERIEABH D IRBM(PBX) R R ILHA I HIBSET1, FRE1H RIS FARER ARIHERE IE
.

 EIRE1RE |, 55iEECRC=HIECRC,

 HREVRERRTS , EiRIZEHDB3RAMI,

 HRE1RER |, FEEinternalmline, FicE , TRIMNPBXERERETREMNER,

BEEREES.

EEEEFHREAES.

. Ffcas-customii T EEREE.

~No ok~ wWwN



R XE fRBR F\ At

£ LT a5 7 S E RARBE A

eefje(confi g) #controller E1 0
eefje(config-controll er)#ds0-group 1 timeslots 1-15 type ?

r 2- anal og R2 I TU (411

r2-digital R2 I TU (421
r2-pul se R2 | TU Suppl enrent 7

BT ECisco I0SEXBAR A1 1 389 B 51,

eefj e(confi g) #controller E1 0
eefje(config-control |l er)#cas-group 1 timeslot 1-15 type ?

SER : MR HCisco IOSHEMRAT1 3FHRF120  FHSBEDERESS,
%E = A

fREFIRARENARETARGEEEMES -

eefj e(confi g) #controller E1 0

eefje(config-controll er)#ds0-group 1 timeslots 1-15 type r2-digital ?
dt nf DTMF tone signaling

r2-conpel | ed R2 Conpel | ed Regi ster Signaling

r2-non-conpel | ed R2 Non Conpel | ed Regi ster Signaling
r2-sem-conpelled R2 Sem Conpelled Register Signaling

R2IE S HICiscoB HETA RN B H ok iS5 B IRIE(DNIS) X 8., MREA B BRI BI(ANI)EE | Al
PHEWEDNISEH. EEANIBERZEZEADNISKE, DNISEFFMIRE, ANIRREEN TS
o Bltn , MRAEEBANIMAHSEEATIUE ABIIEEAHES , AIZBDNISIHB D EGKMSEB , X
ANISEIE D B4 IR IS8 A., ANIEERENY 5 IDEE L,

ff Fcas-customis £ EHE1 R2

cas-customin T T FH T AR EEER/HEZE, cMERAR BT EERB AR (CAS)SI B, It
e 5IER A tn{a K 4R FT B cas-custom @ iR 1,

eef je(confi g) #controller E1 0
eefje(config-controll er)#cas-custom 1
eefje(config-ctrl-cas)#?

CAS cust om conmands:

ani-digits Expected nunber of ANl digits

ani - ti neout Ti meout for ANl digits

answer-guard-tinme Wait Between Group-B Answer Signal And Line Answer
answer - si gnal Answer signal to be used

caller-digits Digits to be collected before requesting CallerlD
cat egory Cat egory signa

country Country Nane

debounce-tinme Debounce Ti ner

def aul t Set a command to its defaults

dni s-conpl ete Send I-15 after DNIS digits for dial-out



dnis-digits

exit
groupa-cal l eri d-end
invert-abcd

ka

kd

nmet ering
nc-congestion

no

proceed-t o-send
rel ease- ack

rel ease-guard-tine
request - cat egory
sei zure-ack-time
unused- abcd

Expect ed nunmber of DNIS digits

Exit from cas custom node

Send G oup-A Caller ID End

invert the ABCD bits before TX and after rx
kA Si gnal

KD Si gnal

R2 network is sending nmetering signa

Non Conpel | ed Congestion signha
Negate a comrand or set its defaults
Suppress proceed-to-send signal for
Send Rel ease Acknow edgnent to Cl ear
Rel ease Guard Ti mer

DNIS Digits to be collected before requesting category
Sei zure to Acknow edge ti mer

Unused ABCD bit val ues

pul sed |ine signaling
For war d

B Bcas-customdn 5| BV EFHHE FA , 552 B F Fcas-customin T HIE1 R2ZES:

% =

ARERSEHLERRE,
E1 CAS Ethernet
4 = V.
— ]
Analog PEX AS5300 2610 Analog
Phone (Eefie) Phone
123 EG7

#EAE

HRAXEMS , U TREETMTHLETHN =ZETENR2EE :
- R2B(F R 5 Th &E
- R2B{ 3 5 il

- R2B{{v 58 #ANI
EEREE , UEEBRRAXENRNER.

R/R2WFIERHIEE T Eefje

host nane eefje
|
controller E1 O

cl ock source line primary

dso-group 1 tinmeslots 1-15 type r2-digital r2-non-
conpel | ed

cas-custom 1

!--- For more information on these commands !--- refer
to dsO-group and cas-custom.

!
voi ce-port 0:1

cptone BE

!--- The cptone conmmand is country specific. For nore !-

-- information on this command, refer to cptone
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|
di al - peer voice 123 pots
destination-pattern 123
direct-inward-di a

port 0:1

prefix 123

|
di al - peer voice 567 voip
destination-pattern 567

session target ipv4:2.0.0.2
|

RR2Y 7 ¥ R FIE BEefje

host nane eefje
!
controller E1 O

cl ock source line primary

dsO-group 1 timeslots 1-15 type r2-digital r2-semi-
conpel | ed

cas-custom 1

!--- For more information on these commands !--- refer
to ds0O-group and cas-custom .

|
voi ce-port 0:1
cptone BE
!--- The cptone command is country specific. For nore !-
-- information on this command, refer to cptone

di al - peer voice 123 pots
destination-pattern 123
direct-inward-di a
port 0:1
prefix 123

!

di al - peer voice 567 voip
destination-pattern 567

session target ipv4:2.0.0.2
|

RR2BARFIANIE BAYEefje

host nane eefje

I controller E1 O clock source line prinmary dsO-group

1 timeslots 1-15 type r2-digital r2-conpelled ani cas-
custom 1

!--- For more information on these commands !--- refer
to ds0-group and cas-custom .

voi ce-port 0:1 cptone BE
!--- The cptone command is country specific. For nore !-
-- information on this command, refer to cptone

di al - peer voice 123 pots destination-pattern 123 direct-
i nwar d-di al port

0:1 prefix 123

!

di al - peer voice 567 voip destination-pattern 567 session

target ipv4:2.0.0.2
!




B

BRIRBERARLERNEBRERERF.

REREDE AR

AERENEF T AREERETERHEDE,
HEBRE1 R2#(

AT REALL IR REARBARY SE B BE MR B Fo

AR T RFETIRE | HWAREITREHR,
1. BBERERE1 OREERE) ., MRBEWE  FREMME. REREE. KER.
B/, EFREFS. £AE1 R2ZER Mcas-customis T X EEABE,

. EAE
4165

Bk
2. IR FEHAS5300 , 55 Fshow vic slot numberinterfaceft S ERE C ERELEDSP,
3. EEXBEEAEFERK(POTS SR LR EEZEEA(DID) , MEFAAKRINEFZRBEEHY
£,

23518 I #5E cptone(cptoneS ER BN BIR/HE[E), AR E cptonecountryfs = BEICEL
cas-custom country@i . cptone 5| B EREEIR/MENTFIWUEESH K FEENR |, KK
IBERE Ba-lawmiu-law , EBURRBIZR/H B, EBWFEEREE2u-law,

5. AR FEME S AL R EAE TR,
6. BB X P B RH —debug , REMRE L,

7. RERHSREPBXH XM BB  ESREEHEHTE ? RHSRERREWEEXEFE 7 #
HH 08— B BT 5B BRIFEAL , 2N Al RE |
debugflshowiin £

#8 £ F Cisco.com LR A & #FCisco IOSEX B R AN,

mHEES TS (EHEMEFER) XEX Eshowdn s , It TEMZFEEMBRshowdr S H
AR : Bidebug T2l , BB ERDebugi THEEE

o5

5ol BT
(-]

‘E—{I_I‘I

AR : B Cisco IOSEREMA12.0 , FEEMA L TRR:

. debug cas — AARRERE D,
. debug csm voice -AREFHREET.

. debug vtsp all — ZEPBXFIRHEE2ERBFEEE (8T ) N,
# M Cisco IOSE IR AIOS 11.3 , FEAUTH S

- modem-mgmt csm debug-rbs — ARRBEF(EEEg LB RERN P IEERBERT. )
. debug csm voice -AREFHREET.

. debug vtsp all — ZEPBXFIRHEE2ERBFEEE (8T ) N,
HHAAS5400HMAS5350F & , BFEAUTHREA -

- debug sigsm r2 — IR EFZRHEES

- debug vtsp all — EPBXFEHBE2BERBAEHEE (8T ) MNimt,
S R A
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HAANENEHERT ZETEANEE , Bt TAR=BTENHAR:

R2EFIEFRBIAY : EIT567HIRE

A7 EiFihIRfE tdebugii t | FFSRIE1 R2ETER.

eef | e!show debug
CAS:
Channel Associ ated Signaling debugging is on
CSM Voi ce:
Voice Call Swi tching Mbdul e debugging is on
Voi ce Tel ephony sessi on debugging is on
Voi ce Tel ephony dsp debugging is on
Voi ce Tel ephony error debugging is on
eef j e#
eef j e#
eef j e#
Jan 6 10:41:28.677: from NEAT(0): (0/0): Rx SEIZURE ( ABCD=0001)

Jan 6 10:41:28.717: VDEV_ALLOCATE: failed to allocate a device

Jan 6 10:41:28.717: VDEV_ALLOCATE: 1/28 is allocated

Jan 6 10:41:28.721: csmyvtsp_init_tdm (voice_vdev=0x620BF874)

Jan 6 10:41:28.721: csmvtsp_init_tdm dsprmtdmallocate: tdmslot 2,

dspm 1, dsp 5, dsp_channel 1

Jan 6 10:41:28.721: csmuvtsp_init_tdm dsprmtdmallocate: tdmstreamb5,

channel 3, bank 1, bp_channel 4, BP_stream 255

Jan 6 10:41:28.721: CSM RX_CAS_EVENT_FROM NEAT: (ci d0018): EVENT_CALL_ DI AL_IN
at slot 2 and port 16

Jan 6 10:41:28.721: CSM PROC | DLE: CSM EVENT_START DI G T_COLLECT at slot 2,
port 16

Jan 6 10:41:28.721: csmvtsp_start_digit_collect (voice_vdev=0x620BF874)

Jan 6 10:41:28.721: Enter csm.connect_pri_vdev function

Jan 6 10:41:28.721: csmconnect _pri_vdev:tdmallocate BP_ts()call. BP TS all ocated
at BP_streanD, BP_Ch28, vdev_comobn 0x6 20BF8E4

Jan 6 10:41:28.721: to NEAT:(cid0018) EVENT_CHANNEL_LOCK for slotO ctlr0 chanO
Jan 6 10:41:28.721: vtsp_do_call_setup_ind

Jan 6 10:41:28.721: vtsp_do_call_setup_ind: Call |D=65681, gui d=61FAF610

Jan 6 10:41:28.721: vtsp_do_call_setup_ind: type=0, under_spec=0, nane=, id0=0
idl=0, id2=0, calling=, called=

Jan 6 10:41:28.721: vtsp_do_call_setup_ind: redirect DN = reason =
Ovt sp_open_voi ce_and_set _parans

Jan 6 10:41:28.721: dsp_cl ose_voice_channel: [0:1:0] packet_l en=8 channel _id
=8529 packet _i d=75

Jan 6 10:41:28.721: dsp_open_voi ce_channel _20: [0:1:0] packet_Len=16 channel _id
=8529 packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0 ti ne_sl ot =0
serial _port=0

Jan 6 10:41:28.721: dsp_encap_config_20: [0:1:0] packet_Len=24 channel _i d=8529
packet i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0

Jan 6 10:41:28.721: dsp_set_playout: [0:1:0] packet_Len=18 channel _i d=8529
packet i d=76 node=1 initial =60 m n=4 max=200 fax_nom300

Jan 6 10:41:28.721: dsp_echo_canceller_control: [0:1:0] packet_Len=10
channel _i d=8529 packet _i d=66 fl ags=0x0

Jan 6 10:41:28.721: dsp_set_gains: [0:1:0] packet_Len=12 channel _i d=8529
packet _i d=91 in_gai n=0 out_gai n=0

Jan 6 10:41:28.721: dsp_vad_enable: [0:1:0] packet_Len=10 channel _i d=8529
packet _i d=78 thresh=-38

Jan 6 10:41:28.721: dsp_voice_node: [0:1:0] packet_Len=24 channel _i d=8529
packet _i d=73 codi ng_type=1 voice_field_size=80 V AD fl ag=0 echo_| engt h=64
confort_noise=1 inband_detect=1 digit_rel ay=2

AGC flag=0vtsp_do r2 start_digit(): dsp_dtnf_node()

dsp_dt nf _node( VISP_TONE_R2_M~_FORWARD_MODE)

Jan 6 10:41:28.725: dsp_dtnf_node: [0:1:0] packet_Len=10 channel _i d=8529
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packet _i d=65 dtnf_or_nf=1vtsp _do_r2 start_digit():fsmpush(vtsp_r2_state_table)
Jan 6 10:41:28.725: csmvtsp_call_setup_resp (vdev_i nf o=0x620BF874,
vt sp_cdb=0x621C5F3C)
Jan 6 10:41:28.725: csmvtsp_call _setup_resp: vdev_common BP TS al | ocat edat
BP_st r eanD, BP_Ch28
Jan 6 10:41:28.725: csmvtsp_call _setup_resp:dst_tdmchnl call. BP TS all ocat edat
stream 5, chan 3, BP_stream 255, BP_ch 4
Jan 6 10:41:28.725: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 5, chan 3,BP_stream 0, BP_ch 28
Jan 6 10:41:28.725: CSM PROC_| C1_COLLECT_ADDR_| NFO CSM EVENT_MODEM OFFHOCK
(DNl S=, ANI=) at slot 2, port 16
Jan 6 10:41:28.725: R2 Inconming Voice(2/16): DSX (E1 0:0): STATE: R2_IN_IDLE R2
Got Event R2_START
Jan 6 10:41:28.821: CSM RX_CAS_EVENT_FROM NEAT: (0018) : EVENT_START_RX_TONE at slot 2
and port 16
Jan 6 10:41:28.821: from NEAT(O0): (0/0): TX SEIZURE_ACK ( ABCD=1101)
!--- Digit 5 is sent: Forward Signal Group I-5. Jan 6 10:41:29.233: vtsp_process_dsp_nessage:
MSG_TX_DTMF_DIGIT BEGIN: digit=5,
rtp_tinmestanp=0x0CA95D43 dc_digit_up
Jan 6 10:41:29.233: csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C) received digit (5)
Jan 6 10:41:29.233: CSMvoice (2/16): Rcvd Digit detected(5)
Jan 6 10:41:29.233: R2 Inconm ng Voice(2/16): DSX (E1 0:0):
STATE: R2_IN COLLECT DNIS R2
CGot Event 5
Jan 6 10: 41: 29. 365: vtsp_process_dsp_nessage: MSG TX DTMF_DI G T_OFF: digit=5,
durati on=8321dc_digit
Jan 6 10: 41:29.365: csmvtsp _digit_ready (vtsp_cdb=0x621C5F3C) received digit (5)
Jan 6 10: 41:29. 365: CSMvoice (2/16): Rcvd Digit detected(5b)
Jan 6 10:41:29.365: R2 Inconmi ng Voice(2/16): DSX (E1 0:0):
STATE:R2_IN COLLECT_ DNIS R2
Got Event R2_TONE_OFF
!--- Digit 6 is sent: Forward Signal Group I-6. Jan 6 10:41:29.593: vtsp_process_dsp_nessage:
MSG_TX_DTMF_DIGIT BEGIN: digit=6,
rtp_tinmestanp=0x0CA95D43 dc_digit_up
Jan 6 10:41:29.593: csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C) received digit (6)
Jan 6 10:41:29.593: CSMvoice (2/16): Rcvd Digit detected(6)
Jan 6 10:41:29.593: R2 Incomi ng Voice(2/16): DSX (E1 0:0):
STATE: R2_IN COLLECT DNIS R2
CGot Event 6
Jan 6 10:41:29.725: vtsp_process_dsp_nessage: MSG TX DTMF_ DI G T_OFF: digit=6,
durati on=8321dc_digit
Jan 6 10:41:29.725: csmvtsp _digit_ready (vtsp_cdb=0x621C5F3C) received digit (6)
Jan 6 10:41:29.725: CSMvoice (2/16): Rcvd Digit detected(6)
Jan 6 10:41:29.725: R2 Inconm ng Voice(2/16): DSX (E1 0:0):
STATE: R2_IN COLLECT DNIS R2
Got Event R2_TONE_OFF
!--- Digit 7 is sent: Forward Signal Group I-7. Jan 6 10:41:29.953: vtsp_process_dsp_nessage:
MSG_TX_DTMF_DIGIT BEGIN:
digit=7, rtp_timestamp=0x0CA95D43 dc_digit_up
Jan 6 10:41:29.953: csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C)
received digit (7)
Jan 6 10:41:29.953: CSMvoice (2/16): Rcvd Digit detected(7)
Jan 6 10:41:29.953: R2 Inconmi ng Voice(2/16): DSX (E1 0:0):
STATE: R2_I N_COLLECT_DNI' S R2
Got Event 7
Jan 6 10: 41: 30. 085: vtsp_process_dsp_nessage: MSG TX DTMF_DI G T_OFF:
di git=7, duration=8321dc_digit
Jan 6 10: 41:30.085: csmvtsp digit_ready (vtsp_cdb=0x621C5F3C)received digit (7)
Jan 6 10: 41: 30.085: CSMvoice (2/16): Rcvd Digit detected(7)
Jan 6 10: 41:30.085: R2 Incom ng Voice(2/16): DSX (E1 0:0):
STATE: R2_IN_COLLECT_DNI' S R2
Got Event R2_TONE_OFF
I --- Timeout: 3 seconds (default timer - AS5300 assumes DNIS is finished). Jan 6 10:41: 32. 953:
R2 1 ncom ng Voice(2/16): DSX (E1 0:0): STATE: R2_IN_COLLECT_DNIS R2 Got Event R2_TONE_TIMER



!--- Send digit 6: Backward Signal Group B-6 (subscriber's line free-charge). Jan 6
10: 41: 32. 953: vtsp_r2_generate_digits: vdev_conmon=0x620BF8E4, string=567dc_dial ()
vtsp_di al _nopush dsp_dtmf_dialing(): dial_string = 6#

Jan 6 10: 41:32.953: dsp_dtnf_dialing: [0:1:0] packet_Len=36 channel _i d=8529
packet _i d=90 string=6# digits=2, tinme_on=150, tine_off=30
Jan 6 10:41:32.953: & digit=e, conponents=2, freqg_of _first=900,
freq_of _second=780, anp_of first=8192, anp_of_second=8192
Jan 6 10: 41: 32. 953: di gi t =0, conponents=2, freq_of _first=0,
freq_of _second=0, amp_of _first=1, anp_of second=1
Jan 6 10:41: 33. 313: vtsp_process_dsp_nessage:
MSG_TX_ DIALING DONE dc_dialing done()
Jan 6 10:41:33.313: R2 Inconmi ng Voice(2/16): DSX (E1 0:0):
STATE: R2_I N_ANSVER_PULSE R2
Got Event R2_DIGITS_GENR2_ALERTING
Jan 6 10:41:34.313: R2 Inconmi ng Voice(2/16): DSX (E1 0:0):
STATE: R2_I N_ANSWER_PULSE R2
Got Event R2_TONE_TIMER
Jan 6 10:41:34.313: R2_IN_IDLE: 2 r2_in_connect called
Jan 6 10:41:34.313: CSM PROC_| C1_COLLECT_ADDR | NFO
CSM_EVENT_ADDR | NFO_COLLECTED (DNI S=567, ANl =) at slot 2, port 16
Jan 6 10:41: 34.313: vtsp_tsp_call _accept_check (sdb=0x61B8FOEO, calling_numnber=
cal | ed_nunber =567): peer_tag=0
Jan 6 10: 41: 34. 313: VDEV_ALLOCATE: failed to allocate a device

Jan 6 10: 41: 34. 313: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 10: 41: 34. 313: VDEV_ALLOCATE: failed to allocate a device
Jan 6 10: 41: 34. 313: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 10: 41: 34. 313: VDEV_ALLOCATE: failed to allocate a device
Jan 6 10: 41: 34. 313: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 10:41:34.313: CSM PROC | C3_WAI T_FOR_RES _RESP: CSM EVENT_RESOURCE_(X at slot 2,

port 16
Jan 6 10:41:34.313: vtsp_ic_switch : (voice_vdev= 0x620BF874)
Jan 6 10:41:34.313: vtsp_tsp_call_switch_ind (cdb=0x621C5F3C, tsp_info=0x620BF874,
cal li ng_nunber = cal | ed_nunber =567 redir ect_nunber=):
peer _tag=123dc_switch: fsm pop()
Jan 6 10:41:34.313: vtsp_do_call_setup_ind
Jan 6 10:41: 34.313: vtsp_do_call_setup_ind: Call |D=65683, guid=61FAF610
Jan 6 10:41: 34.313: vtsp_do_call_setup_ind: type=0, under_spec=0,
nanme=ab”Lx, id0=1, idl1=0, id2=0, calling=123, call ed=567
Jan 6 10: 41: 34.317: dsp_cp_tone_off: [] packet_Len=8 channel _i d=8529 packet _i d=71
Jan 6 10:41: 34.317: dsp_idle_node: [] packet_Len=8 channel _i d=8529 packet _i d=68
Jan 6 10: 41: 34. 317: dsp_cl ose_voi ce_channel: [] packet_Len=8 channel _i d=8529
packet _i d=75
Jan 6 10:41:34.317: vtsp_timer_stop: 67475758
Jan 6 10:41:34.317: csmvtsp_call_setup_resp (vdev_i nf o=0x620BF874,
vt sp_cdb=0x621C5F3C)
Jan 6 10: 41: 34.317: csmvtsp_cal |l _setup_resp: vdev_conmon
BP TS al | ocat edat BP_streanD,
BP_Ch28
Jan 6 10:41: 34.317: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 5, chan 3,BP_stream 0, BP_ch 28
Jan 6 10:41: 34.317: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 5, chan 3,BP_stream 0, BP_ch 28vt sp_open_voi ce_and_set _parans
Jan 6 10: 41: 34. 317: dsp_cl ose_voice_channel: [0:1 (54)] packet_Len=8 channel _i d=8529
packet _i d=75
Jan 6 10: 41: 34. 317: dsp_open_voi ce_channel _20: [0:1 (54)] packet_Len=16
channel _i d=8529
packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0 ti me_sl ot =0
serial _port=0
Jan 6 10: 41: 34. 317: dsp_encap_config_20: [0:1 (54)] packet_Len=24 channel _i d=8529
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0
Jan 6 10: 41: 34. 317: dsp_set_playout: [0:1 (54)] packet_Len=18 channel _i d=8529
packet _i d=76 node=1 initial =60 m n=4 max=200 fax_nom=300
Jan 6 10:41: 34. 317: dsp_echo_canceller_control: [0:1 (54)] packet_Len=10



channel _i d=8529
packet _i d=66 fl ags=0x0
Jan 6 10:41: 34. 317: dsp_set_gains: [0:1 (54)] packet_Len=12
channel _i d=8529 packet _i d=91
i n_gai n=0 out _gai n=0
Jan 6 10: 41: 34. 317: dsp_vad_enable: [0:1 (54)] packet_Len=10
channel _i d=8529 packet _i d=78
t hresh=- 38act _proceedi ng
Jan 6 10: 41: 34.321: csmvtsp_call _proceedi ng: DST_tdm chnl call
BP TS al |l ocat edstream 5,
chan 3,BP_stream 0, BP_ch 28act_al ert
Jan 6 10:41:34.345: vtsp_ring_noan_tiner_start: 67475761
Jan 6 10: 41: 34. 345: csmvtsp_call _alert (vtsp_cdb=0x621C5F3C)act_bri dge act_caps_i nd
Jan 6 10: 41: 34.589: act_caps_ind: Encap 1, Vad 2, Codec O0x4, CodecBytes 20,
FaxRate 2, FaxBytes 20 Signal Type 0
Dt nf Rel ay 1, Mbdem lact _caps_ack
Jan 6 10:41:34.589: dsp_idle_node: [0:1 (54)] packet_Len=8
channel _i d=8529 packet _i d=68
Jan 6 10: 41: 34.589: act_caps_ack: codec = 15, ret =1
Jan 6 10:41:34.589: dsp_cp_tone_off: [0:1 (54)] packet_Len=8 channel _i d=8529
packet _i d=71
Jan 6 10:41:34.589: dsp_idle_node: [0:1 (54)] packet_Len=8
channel _i d=8529 packet _i d=68
Jan 6 10: 41: 34.589: dsp_encap_config_20: [0:1 (54)] packet_Len=24 channel _i d=8529
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0
Jan 6 10: 41: 34.589: dsp_voice_node: [0:1 (54)] packet_Len=24 channel _i d=8529
packet _i d=73 codi ng_type=20 voice_field_size=20 VAD flag=1 echo_I engt h=64
confort_noi se=1 inband_detect=1 digit_relay=2 AGC fl ag=0act _al ert_connect
Jan 6 10: 41: 36.857: vtsp_ring_noan_tiner_stop: 67476012
Jan 6 10: 41: 36.857: dsp_cp_tone_off: [0:1 (54)] packet_Len=8 channel _i d=8529
packet _i d=71
Jan 6 10: 41: 36. 857: csmvtsp_call _connect (vtsp_cdb=0x621C5F3C,
voi ce_vdev=0x620BF874)
Jan 6 10:41:36.857: CSM | C5_WAI T_FOR_SW TCH OVER CSM EVENT_MODEM OFFHOOK
at slot 2, port 16
Jan 6 10:41:36.917: CSM RX_CAS_EVENT_FROM NEAT: (0018): EVENT_CHANNEL_CONNECTED
at slot 2 and port 16
Jan 6 10:41:36.917: CSM PROC | C6_WAI T_FOR_CONNECT: CSM EVENT_DSX0_CONNECTED
at slot 2, port 16
Jan 6 10:41:36.921: from NEAT(O0): (0/0): TX ANSWERED(ABCD=0101)
eef j e#

R2® 7 ¥ R I X, : #7567 KM

BT EFEE I debugii | BSBE1 RIEDER,

eef | e!show debug
CAS:
Channel Associ ated Signaling debugging is on
CSM Voi ce:
Voi ce Call Switching Mdul e debugging is on
Voi ce Tel ephony sessi on debugging is on
Voi ce Tel ephony dsp debugging is on
Voi ce Tel ephony error debugging is on
eef j e#
eef j e#
eef j e#
Jan 6 09:53:42.389: from NEAT(0): (0/2): Rx SEIZURE( ABCD=0001)
Jan 6 09:53:42.433: VDEV_ALLOCATE: failed to allocate a device
Jan 6 09:53:42.433: VDEV_ALLOCATE: 1/27 is allocated
Jan 6 09:53:42.433: csmvtsp_init_tdm (voi ce_vdev=0x620BF320)
Jan 6 09:53:42.433: csmvtsp_init_tdm dsprmtdmallocate: tdmslot 2, dspm 1,
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dsp 4, dsp_channel 4
Jan 6 09:53:42.433: csmvtsp_init_tdm dsprmtdmallocate: tdmstream 7, channel O,
bank 4, BP_channel 3, BP_stream 255
Jan 6 09:53:42.433: CSM RX_CAS_EVENT_FROM NEAT: (ci d0017): EVENT_CALL_DI AL_I N
at slot 2 and port 15
Jan 6 09:53:42.433: CSM PROC_| DLE: CSM EVENT_START_DI G T_COLLECT
at slot 2, port 15
Jan 6 09:53:42.433: csmvtsp_start_digit_collect (voice_vdev=0x620BF320)
Jan 6 09:53:42.433: Enter csm.connect_pri_vdev function
Jan 6 09:53:42.433: csmconnect_pri_vdev:tdm all ocate BP _Ts()call. BP TS all ocated
at BP_streanD, BP_Ch27,vdev_comon 0x6 20BF390
Jan 6 09:53:42.433: to NEAT:(cid0017) EVENT_CHANNEL_LOCK for slotO ctlr0 chan2
Jan 6 09:53:42.433: vtsp_do_call_setup_ind
Jan 6 09:53:42.433: vtsp_do_call_setup_ind: Call |D=65675, guid=61FAF610
Jan 6 09:53:42.433: vtsp_do_call_setup_ind: type=0, under_spec=0, name=, id0=0
i d1=0, id2=0, calling=, called=
Jan 6 09:53:42.433: vtsp_do_call_setup_ind: redirect DN = reason =
Ovt sp_open_voi ce_and_set _par ans
Jan 6 09:53:42.433: dsp_cl ose_voi ce_channel: [0:1:2] packet_Len=8 channel _i d=8516
packet _i d=75
Jan 6 09:53:42.433: dsp_open_voi ce_channel _20: [0:1:2] packet_Len=16
channel _i d=8516
packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0
time_slot=1 serial_port=1
Jan 6 09:53:42.433: dsp_encap_config_20: [0:1:2] packet_Len=24 channel _i d=8516
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0
Jan 6 09:53:42.433: dsp_set_playout: [0:1:2] packet_Len=18 channel _i d=8516
packet _i d=76 node=1 initial =60 m n=4 max=200 fax_nom=300
Jan 6 09:53:42.433: dsp_echo_canceller_control: [0:1:2]
packet _Len=10 channel _i d=8516
packet _i d=66 fl ags=0x0
Jan 6 09:53:42.437: dsp_set_gains:[0:1:2] packet_Len=12
channel _i d=8516 packet _i d=91
i n_gai n=0 out _gai n=0
Jan 6 09:53:42.437: dsp_vad_enable: [0:1:2] packet_Len=10 channel _i d=8516
packet _i d=78 thresh=-38
Jan 6 09:53:42.437: dsp_voice_npde: [0:1:2] packet_Len=24 channel _i d=8516
packet _i d=73 codi ng_type=1 voice_fiel d_size=80 VAD fl ag=0 echo_| engt h=64
confort_noi se=1 inband_detect=1 digit_relay=2 AGC flag=0vtsp_do_r2_start_digit():
dsp_dt nf _node() dsp_dtnf_node( VISP_TONE_R2_Mr_FORWARD MODE)
Jan 6 09:53:42.437: dsp_dtnf_node: [0:1:2] packet_Len=10 channel _i d=8516
packet _i d=65 dtnf_or_nf=1vtsp _do_r2_start_digit(): fsmpush(vtsp_r2_state_table)
Jan 6 09:53:42.437: csmvtsp_call _setup_resp (vdev_i nf o=0x620BF320,
vt sp_cdb=0x621C5F3C)
Jan 6 09:53:42.437: csmvtsp_call _setup_resp: vdev_comon BP
TS al | ocat edat BP_streanD,
BP_Ch27
Jan 6 09:53:42.437: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 7, chan 0, BP_stream 255, BP_ch 3
Jan 6 09:53:42.437: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 7, chan 0, BP_stream 0, BP_ch 27
Jan 6 09:53:42.437: CSM PROC_| C1_COLLECT_ADDR_| NFO CSM EVENT_MODEM OFFHOCK
(DNl S=, ANI=) at slot 2, port 15
Jan 6 09:53:42.437: R2 Incom ng Voice(2/15): DSX (E1 0:2): STATE: R2_IN_IDLE R2
Cot Event R2_START
Jan 6 09:53:42.533: CSM_RX_CAS_EVENT_FROM NEAT: (0017) : EVENT_START_RX_TONE
at slot 2 and port 15
Jan 6 09:53:42.533: from NEAT(0): (0/2): TX SEIZURE ACK (ABCD=1101)
!--- Digit 5 is sent: Forward Signal Group I-5. Jan 6 09:53:42.641: vtsp_process_dsp_nessage
MSG TX DTMF_ DIG T_BEA N: digit=5, rtp_timestanp=0x9330B42B dc_digit_up Jan 6 09:53:42. 641:
csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C) received digit (5) Jan 6 09:53:42.641: CSM voi ce
(2/15): Rcvd Digit detected(5) Jan 6 09:53:42.641: R2 |ncom ng Voice(2/15): DSX (E1 0:2):
STATE:R2_IN COLLECT_ DNIS R2
Got Event 5



!--- Digit 1 sent (pulse): Backward Signal Group A-1 (Send next digit) !--- "#" this indicates
that it is a pulse). Jan 6 09:53:42.641: vtsp_r2_generate_digits: vdev_compn=0x620BF390
string=5dc_dial () vtsp_dial _nopush dsp_dtmf_dialing(): dial_string = 1#

Jan 6 09:53:42.641: dsp_dtnf_dialing: [0:1:2] packet_Len=36 channel _i d=8516

packet _i d=90 string=1# digits=2, tine_on=150, time_off=30
Jan 6 09:53:42. 641: digit=", conponents=2, freqg_of _first=1020
freq_of _second=1140,

anp_of first=8192, anp_of_second=8192
Jan 6 09:53:42. 641: di gi t=0, conponents=2, freq_of _first=0, freq_of_second=0,

anp_of first=1, anmp_of_second=1
Jan 6 09:53:42.741: vtsp_process_dsp_nessage: MSG TX DTMF DIG T_OFF: digit=5

durati on=8291dc_digit
Jan 6 09:53:42.741: csmvtsp_digit_ready (vtsp_cdb=0x621C5F3C) received digit (5)
Jan 6 09:53:42.741: CSMvoice (2/15): Rcvd Digit detected(5b)
Jan 6 09:53:42.741: R2 Incomi ng Voice(2/15): DSX (E1 0:2):

STATE:R2_IN COLLECT_ DNIS R2

Got Event R2_TONE_OFF

!--- Digit 6 is sent: Forward Signal Group I. Jan 6 09:53:42.881: vtsp_process_dsp_nessage
MSG TX DTMF_ DIG T_BEA N: digit=6, rtp_timestanp=0x9330B42B dc_digit_up Jan 6 09:53:42.881:
csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C)received digit (6) Jan 6 09:53:42.881: CSM voi ce
(2/15): Rcvd Digit detected(6) Jan 6 09:53:42.881: R2 |ncom ng Voice(2/15): DSX (E1 0:2):
STATE: R2_I N_COLLECT_DNI'S R2 Got Event 6

!--- Digit 1 sent (pulse): Backward Signal Group A-1. (Send next digit.) Jan 6 09:53:42.881:
vtsp_r2_generate_digits: vdev_comopn=0x620BF390, string=56dc_dial () vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 1#

Jan 6 09:53:42.881: dsp_dtnf_dialing: [0:1:2] packet_Len=36 channel _i d=8516
packet _i d=90 string=1# digits=2, tine_on=150, time_off=30
Jan 6 09:53:42.881: digit=", conponents=2, freqg_of _first=1020
freq_of _second=1140,
anp_of first=8192, anp_of_second=8192
Jan 6 09:53:42.881: di gi t=0, conponents=2, freq_of _first=0, freq_of_second=0,
anp_of first=1, anp_of_second=1
Jan 6 09:53:42.981: vtsp_process_dsp_nessage: MSG TX DTMF_DIG T_OFF: digit=6
durati on=8291dc_digit
Jan 6 09:53:42.981: csmvtsp digit_ready (vtsp_cdb=0x621C5F3C) received digit (6)
Jan 6 09:53:42.981: CSMvoice (2/15): Rcvd Digit detected(6)
Jan 6 09:53:42.981: R2 Incomi ng Voice(2/15): DSX (E1 0:2):
STATE:R2_IN COLLECT_DNIS R2
Got Event R2_TONE_OFF
!--- Digit 7 is sent: Forward Signal Group I-7. Jan 6 09:53:43.121: vtsp_process_dsp_nessage:
MSG_TX_DTMF_DIGIT BEGIN:
digit=7, rtp_timestanp=0x9330B42B dc_digit_up
Jan 6 09:53:43.121: csmvtsp _digit_ready_up (vtsp_cdb=0x621C5F3C)received digit (7)
Jan 6 09:53:43.121: CSMvoice (2/15): Rcvd Digit detected(7)
Jan 6 09:53:43.121: R2 Inconmi ng Voice(2/15): DSX (E1 0:2):
STATE: R2_I N_COLLECT_DNI' S R2
Got Event 7
!--- Send digit 1 (pulse): Backward Signal Group A-1. Jan 6 09:53:43.121:
vtsp_r2_generate_digits: vdev_compn=0x620BF390, string=567dc_dial () vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 1#

Jan 6 09:53:43.121: dsp_dtnf_dialing: [0:1:2] packet_Len=36 channel _i d=8516
packet _i d=90 string=1# digits=2, tine_on=150, time_off=30

Jan 6 09:53:43.121: digit=", conponents=2, freqg_of _first=1020

freq_of _second=1140,
anp_of first=8192, anp_of_second=8192

Jan 6 09:53:43.121: di gi t=0, conponents=2, freq_of _first=0, freq_of_second=0,
anp_of first=1, anp_of_second=1

Jan 6 09:53:43.221: vtsp_process_dsp_nessage: MSG TX DTMF_DIG T_OFF: digit=7
durati on=8291dc_digit

Jan 6 09:53:43.221: csmvtsp _digit_ready (vtsp_cdb=0x621C5F3C) received digit (7)

Jan 6 09:53:43.221: CSMvoice (2/15): Rcvd Digit detected(7)



Jan 6 09:53:43.221: R2 Inconmi ng Voice(2/15): DSX (E1 0:2):
STATE:R2_IN COLLECT_ DNIS R2

Got Event R2_TONE_OFF
Jan 6 09:53:43.489: vtsp_process_dsp_nessage: MSG TX DI ALI NG_DONEdc_di al i ng_done()

!--- Timeout is 3 seconds. Jan 6 09:53:46.121: R2 Incom ng Voice(2/15): DSX (E1l 0:2):
STATE:R2_IN COLLECT_ DNIS R2

Got Event R2_TONE_TIMER

!--- Digit 3 sent(pulse): Backward Signal Group A-3. !--- (Address-complete, changeover to
reception of Group-B signals). Jan 6 09:53:46.121: vtsp_r2_generate_digits:
vdev_comon=0x620BF390, string=567dc_dial () vtsp_dial_nopush dsp_dtnf_dialing(): dial_string =
3# Jan 6 09:53:46.121: dsp_dtnf_dialing: [0:1:2] packet_Len=36 channel _i d=8516 packet _i d=90
string=3# digits=2, tine_on=150, time_off=30 Jan 6 09:53:46.121: digit=b, conponents=2,
freq_of _first=1020, freg_of_second=900, anp_of_first=8192, anp_of _second=8192 Jan 6
09: 53:46. 121: digit=0, components=2, freq_of _first=0, freq_of_second=0, anp_of first=1,
anmp_of _second=1 !--- Digit 1 is sent: Forward Signal Group II-1 !--- (subscriber without
priority). Jan 6 09:53:46.361: vtsp_process_dsp_nessage: MSG_TX_ DTMF DIGIT BEGIN:
digit=1, rtp_tinmestanp=0x9330B42B dc_digit_up
Jan 6 09:53:46.361: csmvtsp_digit_ready_up (vtsp_cdb=0x621C5F3C)
received digit (1)
Jan 6 09:53:46.361: CSMvoice (2/15): Rcvd Digit detected(1)
Jan 6 09:53:46.361: R2 Inconmi ng Voice(2/15): DSX (E1 0:2):
STATE:R2_IN_CATEGORY R2

Got Event 1
Jan 6 09:53:46.361: r2_conp_category: R2_ALERTI NG

!--- Digit 6 sent (pulse): Backward Signal Group B-6 !--- (the subscriber line free of charge).
Jan 6 09:53:46.361: vtsp_r2_generate_digits: vdev_conmon=0x620BF390, string=567dc_dial ()
vtsp_di al _nopush dsp_dtmf_dialing(): dial_string = 6#

Jan 6 09:53:46.361: dsp_dtnf_dialing: [0:1:2] packet_Len=36 channel _i d=8516
packet _i d=90 string=6# digits=2, tine_on=150, time_off=30

Jan 6 09:53: 46. 361: di gi t=e, conponents=2, freq_of_first=900,

freq_of _second=780,
anp_of first=8192, anp_of_second=8192

Jan 6 09:53: 46. 361: di gi t=0, conponents=2, freq_of _first=0, freq_of_second=0,
anp_of first=1, anp_of_second=1

Jan 6 09:53:46.461: vtsp_process_dsp_nessage: MSG TX DTMF_ DI G T_OFF: digit=1,
durati on=8291dc_digit

Jan 6 09:53:46.461: csmvtsp _digit_ready (vtsp_cdb=0x621C5F3C)received digit (1)

Jan 6 09:53:46.461: CSMvoice (2/15): Rcvd Digit detected(1)

Jan 6 09:53:46.461: R2 Incom ng Voice(2/15): DSX (E1 0:2): STATE: R2_I N COWPLETE R2
Got Event R2_TONE_OFF

Jan 6 09:53:46.729: vtsp_process_dsp_nessage: MSG TX DI ALI NG_DONEdc_di al i ng_done()

Jan 6 09:53:47.461: R2 Incom ng Voice(2/15): DSX (E1 0:2):

STATE: R2_I N_WAI T_GUARD R2
Got Event R2_TONE_TIMER

Jan 6 09:53:47.461: R2_IN_IDLE:2 r2_in_connect called

Jan 6 09:53:47.461: CSM PROC_| C1_COLLECT_ADDR_|I NFO CSM EVENT_ADDR_| NFO_COLLECTED

(DNl S=567, ANl =) at slot 2, port 15

Jan 6 09:53:47.461: vtsp_tsp_call_accept_check (sdb=0x61B8FOEOQ, cal | i ng_nunber=
cal | ed_nunber =567): peer_tag=0

Jan 6 09:53:47.461: VDEV_ALLOCATE: failed to allocate a device

Jan 6 09:53:47.461: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 09:53:47.461: VDEV_ALLOCATE: failed to allocate a device
Jan 6 09:53:47.461: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 09:53:47.461: VDEV_ALLOCATE: failed to allocate a device
Jan 6 09:53:47.461: VDEV_ALLOCATE_ALMOST_READY: failed to allocate a non-idle nodem
Jan 6 09:53:47.461: CSM PROC | C3_WAI T_FOR_RES RESP: CSM EVENT_RESOURCE_X at slot 2,

port 15

Jan 6 09:53:47.461: vtsp_IC switch : (voi ce_vdev= 0x620BF320)

Jan 6 09:53:47.461: vtsp_tsp_call_switch_ind (cdb=0x621C5F3C, t sp_i nf 0=0x620BF320,
cal i ng_nunber = cal | ed_nunber =567 redirect_nunber=):

peer _tag=123dc_switch: fsm pop()

Jan 6 09:53:47.461: vtsp_do_call_setup_ind

Jan 6 09:53:47.461: vtsp_do_call_setup_ind: Call |D=65677, guid=61FAF610



Jan 6 09:53:47.461: vtsp_do_call_setup_ind: type=0, under_spec=0, nanme=AB"Lo, id0=3
i d1=0, id2=0, calling=123, called=567
Jan 6 09:53:47.465: dsp_cp_tone_off: [] packet_Len=8 channel _i d=8516 packet _id=71
Jan 6 09:53:47.465: dsp_idle_node: [] packet_Len=8 channel _i d=8516 packet _i d=68
Jan 6 09:53:47.465: dsp_cl ose_voice_channel: [] packet_Len=8 channel _i d=8516
packet _i d=75
Jan 6 09:53:47.465: vtsp_timer_stop: 67189073
Jan 6 09:53:47.465: csmvtsp_call_setup_resp (vdev_i nfo=0x620BF320,
vt sp_cdb=0x621C5F3C)
Jan 6 09:53:47.465: csmvtsp_call_setup_resp: vdev_conmnon
BP TS al | ocat edat BP_streanD,
BP_Ch27
Jan 6 09:53:47.465: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 7, chan 0, BP_stream 0, BP_ch 27
Jan 6 09:53:47.465: csmvtsp_call _setup_resp: DST_tdm chnl call. BP TS all ocat edat
stream 7, chan 0,BP_stream 0, BP_ch 27vtsp_open_voi ce_and_set _parans
Jan 6 09:53:47.465: dsp_cl ose_voice_channel: [0:1 (52)] packet_Len=8 channel _i d=8516
packet _i d=75
Jan 6 09:53:47.465: dsp_open_voi ce_channel _20: [0:1 (52)]
packet _Len=16 channel _i d=8516
packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0
time_slot=1 serial_port=1
Jan 6 09:53:47.465: dsp_encap_config_20: [0:1 (52)] packet_Len=24
channel _i d=8516
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0
Jan 6 09:53:47.465: dsp_set_playout: [0:1 (52)] packet_Len=18 channel _i d=8516
packet _i d=76 node=1 initial =60 m n=4 max=200 fax_nom=300
Jan& 6 09:53:47.465: dsp_echo_canceller_control: [0:1 (52)] packet_Len=10
channel _i d=8516
packet _i d=66 fl ags=0x0
Jan 6 09:53:47.465: dsp_set_gains: [0:1 (52)] packet_Len=12 channel _i d=8516
packet _i d=91 i n_gai n=0 out _gai n=0
Jan 6 09:53:47.465: dsp_vad_enable: [0:1 (52)] packet_Len=10 channel _i d=8516
packet _i d=78 thresh=-38act_proceedi ng
Jan 6 09:53:47.469: csmvtsp_call _proceeding: DST_tdm chnl call. BP TS
al | ocat edstream 7,
chan 0,BP_stream 0, BP_ch 27act_alert
Jan 6 09:53:47.493: vtsp_ring_noan_tiner_start: 67189076
Jan 6 09:53:47.493: csmvtsp_call_alert (vtsp_cdb=0x621C5F3C)
act _bridge act_caps_ind
Jan 6 09:53:47.737: act_caps_ind: Encap 1, Vad 2, Codec O0x4, CodecBytes 20,
FaxRate 2, FaxBytes 20 Signal Type 0
Dt nf Rel ay 1, Mbdem lact _caps_ack
Jan 6 09:53:47.737: dsp_idle_node: [0:1 (52)] packet_Len=8 channel _i d=8516
packet _i d=68
Jan 6 09:53:47.737: act_caps_ack: codec = 15, ret =1
Jan 6 09:53:47.737: dsp_cp_tone_off: [0:1 (52)] packet_Len=8 channel _i d=8516

packet _i d=71
Jan 6 09:53:47.737: dsp_idle_nmode: [0:1 (52)] packet_Len=8 channel _i d=8516
packet _i d=68

Jan 6 09:53:47.737: dsp_encap_config_20: [0:1 (52)] packet_Len=24 channel _i d=8516
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0

Jan 6 09:53:47.737: dsp_voice_node: [0:1 (52)] packet_Len=24 channel _i d=8516
packet _i d=73 codi ng_type=20 voice_field_size= 20 VAD fl ag=1 echo_| engt h=64
confort_noi se=1 inband_detect=1 digit_relay=2 AGC fl ag=0act _al ert_connect

Jan 6 09:53:49.461: vtsp_ring_noan_tiner_stop: 67189273

Jan 6 09:53:49.461: dsp_cp_tone_off: [0:1 (52)] packet_Len=8 channel _i d=8516
packet _i d=71

Jan 6 09:53:49.461: csmvtsp_call _connect (vtsp_cdb=0x621C5F3C,

voi ce_vdev=0x620BF320)

Jan 6 09:53:49.461: CSM|C5_WAI T_FOR _SW TCH OVER CSM EVENT_MODEM OFFHOOK
at slot 2, port 15

Jan 6 09:53:49.617: CSM RX_CAS_EVENT_FROM NEAT: (0017): EVENT_CHANNEL_CONNECTED
at slot 2 and port 15



Jan 6 09:53:49.617: CSM PROC | C6_WAI T_FOR_CONNECT: CSM EVENT_DSX0_CONNECTED
at slot 2, port 15

Jan 6 09:53:49.621: from NEAT(O0): (0/2): TX ANSWERED(ABCD=0101)

eef j e#

eef j e#

R2% 5 HIANL: BT 56 7H) KB

BT EiF IR E Ik debugit , BB EE1 R2ESEH.

eef j edebug csm voice

Voi ce Call Switching Mdul e debugging is on

eef | e#fdebug cas

Channel Associated Signaling debugging is on

Jan 7 10: 00: 02. 907: from NEAT(0): debug-cas is on

Jan 7 10: 00: 02.907: from NEAT(0): special debug-cas is offg vtsp all
Voi ce tel ephony call control all debugging is on

eef j e#

eef j e#

Jan 7 10: 00: 23.883: from NEAT(0): (0/8): Rx SEIZURE ( ABCD=0001)

Jan 7 10:00: 23.927: VDEV_ALLOCATE: failed to allocate a device

Jan 7 10:00: 23.927: VDEV_ALLOCATE: 1/2 is allocated

Jan 7 10:00: 23.927: csmvtsp_init_tdm (voi ce_vdev=0x61F19688)

Jan 7 10:00: 23.927: csmvtsp_init_tdm dsprmtdmallocate: tdmslot 1,

dspm 3, dsp 4,
dsp_channel 1
Jan 7 10:00: 23.927: csmvtsp_init_tdm dsprmtdmallocate: tdmstreamb5,
channel 13,
bank 0, BP_channel 15, BP_stream 255
Jan 7 10: 00: 23. 927: CSM RX_CAS_EVENT_FROM NEAT: ( ci d0007) :
EVENT_CALL_DIAL_IN at slot 1
and port 60
Jan 7 10: 00:23.927: CSM PROC | DLE: CSM EVENT_START DIG T_COLLECT at slot 1, port 60
Jan 7 10:00: 23.927: csmvtsp_start_digit_collect (voice_vdev=0x61F19688)
Jan 7 10:00: 23.927: Enter csm.connect_pri_vdev function
Jan 7 10: 00: 23.927: csm.connect _pri_vdev:tdm al |l ocate_BP_Ts() call. BP
TS all ocated at BP_streanD, BP_Ch8, vdev_comobn 0x6205E5F8
Jan 7 10: 00: 23.927: to NEAT: (ci d0007) EVENT_CHANNEL_LOCK for slotO ctlr0 chan8
Jan 7 10: 00: 23.927: vtsp_do_call_setup_ind
Jan 7 10:00: 23.927: vtsp_do_call_setup_ind: Call |D=65579, gui d=62031A88
Jan 7 10:00: 23.927: vtsp_do_call _setup_ind: type=0, under_spec=0,
name=, id0=0, id1=0,id2=0, calling=, called=
Jan 7 10:00: 23.927: vtsp_do_call_setup_ind: redirect DN = reason =
Ovtsp_do_r2_start_digit(): fsmpush(vtsp_r2_state_table)

Jan 7 10:00: 23.927: csmvtsp_call _setup_resp (vdev_i nf o=0x61F19688,
vt sp_cdb=0x61B5BFF8)
Jan 7 10: 00: 23.927: csmvtsp_cal |l _setup_resp: vdev_conmnon
BP TS al | ocat edat BP_streanD,
BP_Ch8
Jan 7 10:00: 23.927: csmvtsp_call _setup_resp: DST_tdm chnl call.
BP TS al | ocat edat stream
5, chan 13, BP_stream 255, BP _ch 15
Jan 7 10:00: 23.927: csmvtsp_call _setup_resp: DST_tdm chnl call.
BP TS al | ocat edat stream
5, chan 13,BP_stream O, BP ch 8
Jan 7 10: 00: 23.927: CSM PROC | C1_COLLECT_ADDR_|I NFO CSM EVENT_MODEM OFFHOOK
(DNI'S=, ANI=) at slot 1, port 60

Jan 7 10:00: 23.931: R2 Inconmi ng Voice(1l/60): DSX (E1 0:8): STATE: R2_IN_IDLE
R2 Got Event R2_START
Jan 7 10: 00: 24. 027: CSM _RX_CAS_EVENT_FROM NEAT: (0007): EVENT_START_RX_TONE
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at slot 1 and port 60
Jan 7 10: 00: 24. 027: from NEAT(O0): (0/8): TX SEIZURE_ACK
(ABCD=1101)dc_init _dsp
vt sp_open_voi ce_and_set _parans
Jan 7 10: 00: 24. 151: dsp_cl ose_voi ce_channel: [0: 1: 8] packet_Len=8 channel _i d=4929
packet _i d=75
Jan 7 10: 00: 24. 151: dsp_open_voi ce_channel _20: [0:1:8] packet_Len=16
channel _i d=4929
packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0
time_slot=0 serial_port=0
Jan 7 10: 00: 24. 151: dsp_encap_config_20: [0: 1:8] packet_Len=24 channel _i d=4929
packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0 r_vpxcc=0x0
Jan 7 10: 00: 24. 151: dsp_set _playout: [0:1:8] packet_Len=18 channel _i d=4929
packet _i d=76 node=1 initial =60 m n=4 max=200 fax_nom=300
Jan 7 10: 00: 24. 151: dsp_echo_cancel l er _control: [0:1:8]
packet _Len=10 channel _i d=4929
packet _i d=66 fl ags=0x0
Jan 7 10: 00: 24. 151: dsp_set _gains: [O0:1:8] packet_Len=12
channel _i d=4929 packet _i d=91
i n_gai n=0 out _gai n=0
Jan 7 10: 00: 24. 151: dsp_vad_enable: [0:1:8] packet_Len=10
channel _i d=4929 packet _i d=78
t hresh=-38
Jan 7 10: 00: 24. 151: dsp_voi ce_node: [O0:1:8] packet_Len=24
channel _i d=4929 packet _i d=73
codi ng_type=1 voice_field_size=80 VAD fl ag=0 echo_| engt h=64
confort _noi se=1
i nband_detect=1 digit_relay=2 AGC fl ag=0dsp_dt nf_node
(VTSP_TONE_R2_MF_FORWARD _MODE)

Jan 7 10: 00: 24. 151: dsp_dtnf_node: [0:1:8] packet_Len=10 channel _i d=4929

packet _i d=65dt nf _or_nf =1

!--- Digit 5 is sent: Forward Signal Group I-5 (First DNIS digit). Jan 7 10:00: 24. 203:
vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT_ BEGIN: digit=5,
rtp_tinestanp=0x04030000 dc_digit_up

Jan 7 10: 00: 24.203: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)received digit (5)
Jan 7 10: 00: 24.203: CSM voice (1/60): Rcvd Digit detected(5)

Jan 7 10: 00: 24. 203: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN PRE CALLERID R2

Got Event 5

!--- Send Backward Signal Group A-5 (caller category request). Jan 7 10:00: 24. 203:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial ()vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 5

Jan 7 10: 00: 24. 203: dsp_dtnf_dialing: [0:1:8] packet_Len=24

channel _i d=4929packet _i d=90

string=5 digits=1, tinme_on=65435, time_off=30

Jan 7 10: 00: 24. 203: digit=, components=2, freqg_of_first=1020,
freq_of _second=780

anp_of first=8192, anp_of_second=8192

Jan 7 10: 00: 24. 303: vtsp_process_dsp_nessage: MSG TX DTMF_DI A T_OFF: di gi t =5

durati on=30dc_digit

Jan 7 10:00: 24. 303: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (5)
Jan 7 10:00: 24. 303: CSM voice (1/60): Rcvd Digit detected(5)

Jan 7 10: 00: 24. 303: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):

STATE:R2_IN CALLERID R2

Got Event R2_TONE_OFF

Jan 7 10:00: 24. 303: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_di al ()

vt sp_di al _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 24. 303: dsp_dtnf_dialing: [0:1:8] packet_Len=24 channel _i d=4929
packet _i d=90 string=# digits=1, tine_on=150, time_off=30
Jan 7 10: 00: 24. 303: digit=, components=2, freq_of _first=0, freg_of_second=0
anp_of first=1, anp_of_second=1



!--- Caller Category Forward Signal Group II-1 is sent. Jan 7 10:00: 24. 403:
vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT_ BEGIN: digit=1,
rtp_tinmestanp=0x001E0010 dc_digit_up
Jan 7 10: 00: 24. 403: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)recei ved
digit (1)
Jan 7 10:00: 24. 403: CSM voice (1/60): Rcvd Digit detected(1)
Jan 7 10:00: 24. 403: R2 Inconmi ng Voice(1l/60): DSX (E1 0:8): STATE: R2_IN CALLERI D R2
Got Event 1
!--- Send Backward Signal Group A-5 (Caller ID request). Jan 7 10:00: 24. 403:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial () vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 5
Jan 7 10: 00: 24. 403: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=5 digits=1, time_on=65435, time_off=30
Jan 7 10: 00: 24. 403: digit=, components=2, freq_of_first=1020, freqg_of _second=780,
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 24. 503: vtsp_process_dsp_nessage: MSG TX DTMF DIG T_OFF: digit=1
durati on=30dc_digit
Jan 7 10:00: 24.503: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (1)
Jan 7 10:00: 24.503: CSMvoice (1/60): Rcvd Digit detected(1)
Jan 7 10:00: 24.503: R2 Inconmi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN CALLERID R2
Got Event R2_TONE_OFF
Jan 7 10:00: 24.503: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_di al ()
vt sp_di al _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 24.503: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=# digits=1, time_on=150, tine_off=30
Jan 7 10: 00: 24. 503: digit=, components=2, freq_of _first=0, freqg_of_second=0
anp_of first=1, anmp_of_second=1
!-—-- First ANI digit is sent: Forward Signal Group I-1. Jan 7 10:00: 24. 603:
vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT_ BEGIN:
digit=1, rtp_tinmestanp=0x001E0010 dc_digit_up
Jan 7 10: 00: 24. 603: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8) received digit (1)
Jan 7 10: 00: 24. 603: CSM voice (1/60): Rcvd Digit detected(1)
Jan 7 10: 00: 24. 603: R2 Inconi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN CALLERID R2
Got Event 1
!--- Send Backward Signal Group A-5 (Caller ID request). Jan 7 10:00: 24.603:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial ()vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 5

Jan 7 10: 00: 24. 603: dsp_dtnf_dialing: [0:1:8] packet_Len=24

channel _i d=4929 packet _i d=90

string=5 digits=1, tinme_on=65435, time_off=30

Jan 7 10: 00: 24. 603: digit=, components=2, freqg_of_first=1020,
freq_of _second=780

anp_of first=8192, anp_of_second=8192

Jan 7 10: 00: 24. 703: vtsp_process_dsp_nessage: MSG TX DTMF DIG T_OFF: digit=1
durati on=30dc_digit

Jan 7 10:00: 24.703: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (1)
Jan 7 10:00: 24.703: CSMvoice (1/60): Rcvd Digit detected(1)

Jan 7 10:00: 24.703: R2 Incom ng Voice(1l/60): DSX (E1 0:8):

STATE:R2_IN CALLERID R2

Got Event R2_TONE_OFF
Jan 7 10:00: 24.703: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_dial ()vtsp_dial _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10:00: 24.703: dsp_dtnf_dialing: [0:1:8] packet_Len=24

channel _i d=4929 packet _i d=90

string=# digits=1, time_on=150, tine_off=30
Jan 7 10: 00: 24. 703: digit=, components=2, freq_of _first=0, freg_of_second=0
anp_of first=1, anp_of_second=1

!-—-- Second ANI digit is sent: Forward Signal Group I-2. Jan 7 10:00: 24. 803:



vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT BEGIN:digit=2,
rtp_tinmestanp=0x001E0010 dc_digit_up
Jan 7 10:00: 24.803: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)
received digit (2)
Jan 7 10:00: 24. 803: CSM voice (1/60): Rcvd Digit detected(?2)
Jan 7 10: 00: 24. 803: R2 Inconmi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN_ CALLERID R2
Got Event 2
!--- Send Backward Signal Group A-5 (Caller ID request). Jan 7 10:00: 24.803:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial ()vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 5

Jan 7 10: 00: 24. 803: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929packet _i d=90
string=5 digits=1, time_on=65435, time_off=30
Jan 7 10: 00: 24. 803: digit=, components=2, freqg_of_first=1020,
freq_of _second=780
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 24. 903: vtsp_process_dsp_nessage: MSG TX DTMF_DIG T_OFF: digit=2
durati on=30dc_digit
Jan 7 10:00: 24.903: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (2)
Jan 7 10:00: 24.903: CSM voice (1/60): Rcvd Digit detected(?2)
Jan 7 10: 00: 24.903: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN_ CALLERID
R2 Got Event R2_TONE_OFF
Jan 7 10:00: 24.903: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_dial ()vtsp_dial _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 24.903: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=# digits=1, time_on=150, tine_off=30
Jan 7 10: 00: 24. 903: digit=, components=2, freq_of_first=0
freq_of _second=0
anp_of first=1, anp_of_second=1
!-—- Third ANI digit is sent: Forward Signal Group I-3. Jan 7 10:00: 25. 003:
vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT BEGIN: digit=3,
rtp_tinestanp=0x001E0010 dc_digit_up
Jan 7 10:00: 25.003: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)
received digit (3)
Jan 7 10: 00: 25. 003: CSM voice (1/60): Rcvd Digit detected(3)
Jan 7 10: 00: 25.003: R2 Incom ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN CALLERID R2
Got Event 3
!--- Send Backward Signal Group A-5 (Caller ID request). Jan 7 10:00:25.003:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial ()vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 5

Jan 7 10: 00: 25. 003: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=5 digits=1, tinme_on=65435, time_off=30
Jan 7 10: 00: 25. 003: digit=, components=2, freqg_of_first=1020,
freq_of _second=780
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 25. 103: vtsp_process_dsp_nessage: MSG TX DTMF_DI G T_OFF: di gi t =3
durati on=30dc_digit
Jan 7 10: 00: 25.103: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (3)
Jan 7 10:00: 25.103: CSM voice (1/60): Rcvd Digit detected(3)
Jan 7 10: 00: 25.103: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN CALLERID R2
Got Event R2_TONE_OFF
Jan 7 10:00: 25.103: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_dial ()vtsp_dial _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 25.103: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=# digits=1, time_on=150, tine_off=30



Jan 7 10: 00: 25. 103: digit=, components=2, freq_of_first=0
freq_of _second=0
anp_of first=1, anp_of_second=1
!--- Digit 15 is sent: Forward Signal Group I-15 (end of ANI digit). Jan 7 10:00: 25. 203:
vt sp_process_dsp_nessage: MSG TX DTMF_DIG T_BEA N digit=15, rtp_timestanp=0x001E0010
dc_digit_up Jan 7 10:00: 25.203: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8) received digit (*)
Jan 7 10: 00: 25.203: CSMvoice (1/60): Rcvd Digit detected(*) Jan 7 10:00: 25.203: R2 Incom ng
Voi ce(1/60): DSX (E1 0:8): STATE:R2_IN CALLERID R2
Got Event 15
!--- Send Backward Signal Group A-1 (next DNIS digit). Jan 7 10:00: 25.203:
vtsp_r2_generate_digits: vdev_compn=0x6205E5F8, string=5dc_dial ()vtsp_dial _nopush
dsp_dtmf_dialing(): dial_string = 1
Jan 7 10: 00: 25. 203: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=1 digits=1, tinme_on=65435, time_off=30
Jan 7 10: 00: 25. 203: digit=, components=2, freqg_of_first=1020,
freq_of _second=1140,
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 25. 303: vtsp_process_dsp_nessage:
MSG_TX_DTMF _DIGIT OFF: digit=15, duration=30dc_digit Jan 7 10:00: 25.303: csmvtsp_digit_ready
(vtsp_cdb=0x61B5BFF8) received digit (*) Jan 7 10:00: 25.303: CSM voice (1/60): Rcvd Digit
detected(*) Jan 7 10:00: 25.303: R2 Incoming Voice(1l/60): DSX (E1 0:8): STATE:R2_IN COLLECT_DNIS
R2
Got Event R2_TONE_OFF
Jan 7 10: 00: 25.303: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=5dc_dial ()vtsp_dial _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 25. 303: dsp_dtnf_dialing: [0:1:8] packet_Len=24 channel _i d=4929
packet _i d=90 string=# digits=1, tine_on=150, time_off=30
Jan 7 10: 00: 25. 303: digit=, components=2, freq_of _first=0, freqg_of_second=0
anp_of first=1, anmp_of_second=1
!-—-- Second DNIS digit is sent: Forward Signal Group I-6. Jan 7 10:00: 25.391:
vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT BEGIN: digit=6,
rtp_tinestanp=0x001E0010 dc_digit_up
Jan 7 10:00: 25.391: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)
received digit (6)
Jan 7 10:00: 25.391: CSMvoice (1/60): Rcvd Digit detected(6)
Jan 7 10:00: 25.391: R2 Inconi ng Voice(1l/60): DSX (E1 0:8):
STATE: R2_I N_COLLECT_DNI' S
R2 Got Event 6
!--- Send Backward Signal Group A-1. Jan 7 10:00:25.391: vtsp_r2_generate_digits:
vdev_comon=0x6205E5F8, string=56dc_dial () vtsp_di al _nopush dsp_dtmf_dialing(): dial_string = 1

Jan 7 10: 00: 25. 391: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=1 digits=1, tinme_on=65435, time_off=30
Jan 7 10: 00: 25. 391: digit=, components=2, freqg_of_first=1020,
freq_of _second=1140,
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 25. 491: vtsp_process_dsp_nessage: MSG TX DTMF_DI G T_OFF: di gi t =6
durati on=30dc_digit
Jan 7 10: 00: 25.491: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8) received digit (6)
Jan 7 10:00: 25.491: CSMvoice (1/60): Rcvd Digit detected(6)
Jan 7 10: 00: 25.491: R2 Inconi ng Voice(1l/60): DSX (E1 0:8):
STATE: R2_IN COLLECT DNIS R2
Got Event R2_TONE_OFF
Jan 7 10:00: 25.491: vtsp_r2_generate_digits: vdev_conmmon=0x6205E5F8
string=56dc_di al () vtsp_dial _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 25. 491: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=# digits=1, time_on=150, tine_off=30
Jan 7 10: 00: 25. 491: digit=, components=2, freq_of_first=0
freq_of _second=0
anp_of first=1, anp_of_second=1
!-—- Third DNIS digit is sent: Forward Signal Group I-7. Jan 7 10:00: 25.583:



vt sp_process_dsp_nessage: MSG_TX DTMF_DIGIT_ BEGIN: digit=7,
rtp_tinmestanp=0x001E0010 dc_digit_up
Jan 7 10:00: 25.583: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)
received digit (7)
Jan 7 10:00: 25.583: CSM voice (1/60): Rcvd Digit detected(7)
Jan 7 10: 00: 25.583: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN COLLECT_ DNIS R2
Got Event 7
!--- Send Backward Signal Group A-1. Jan 7 10:00:25.583: vtsp_r2_generate_digits:
vdev_comon=0x6205E5F8, string=567dc_di al ()vtsp_di al _nopush dsp_dtmf_dialing(): dial_string = 1

Jan 7 10:00: 25.583: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=1 digits=1, tinme_on=65435, time_off=30
Jan 7 10: 00: 25. 583: digit=, components=2, freqg_of_first=1020,
freq_of _second=1140,
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 25. 683: vtsp_process_dsp_nessage: MSG TX DTMF_DIG T_OFF: digit=7
durati on=30dc_digit
Jan 7 10:00: 25.683: csmvtsp _digit_ready (vtsp_cdb=0x61B5BFF8)
received digit (7)
Jan 7 10: 00: 25.683: CSM voice (1/60): Rcvd Digit detected(7)
Jan 7 10: 00: 25.683: R2 Incom ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN COLLECT_ DNIS R2
Got Event R2_TONE_OFF
Jan 7 10: 00: 25.683: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=567dc_di al ()vtsp_di al _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10: 00: 25. 683: dsp_dtnf_dialing: [0:1:8] packet_Len=24
channel _i d=4929 packet _i d=90
string=# digits=1, time_on=150, tine_off=30
Jan 7 10: 00: 25. 683: digit=, components=2, freq_of_first=0
freq_of _second=0
anp_of first=1, anp_of_second=1
Jan 7 10: 00: 25. 835: vtsp_process_dsp_nessage: MSG TX DI ALI NG_DONEdc_di al i ng_done()
!--- Timeout is 3 seconds. Jan 7 10:00:28.583: R2 Incomnmi ng Voice(1/60): DSX (E1l 0:8):
STATE:R2_IN COLLECT_DNIS R2
Got Event R2_TONE_TIMER
!--- Send Backward Signal Group A-3: address-complete, changeover !--- to reception of group-B
signal. Jan 7 10:00:28.583: vtsp_r2_generate_digits: vdev_comon=0x6205E5F8,
string=567dc_dial ()vtsp_di al _nopush dsp_dtnf_dialing(): dial_string = 3# Jan 7 10: 00: 28. 583
dsp_dtmf_dialing: [0:1:8] packet_Len=36
channel_id=4929 packet_id=90
string=3# digits=2, time_on=150, tinme_off=30
Jan 7 10: 00: 28. 583: digit=, components=2, freqg_of_first=1020,
freq_of _second=900
anp_of first=8192, anp_of_second=8192
Jan 7 10: 00: 28. 583: digit=, components=2, freq_of _first=0, freqg_of_second=0
anp_of first=1, anp_of_second=1
!--- Forward Signal Group II-1 is sent: subscriber without priority. Jan 7 10:00:28. 831:
vt sp_process_dsp_message: MSG TX DTMF_ DIG T_BEA N digit=1, rtp_tinmestanp=0x001E0003 dc_digit_up
Jan 7 10:00: 28.831: csmvtsp digit_ready_up (vtsp_cdb=0x61B5BFF8) received digit (1) Jan 7
10: 00: 28.831: CSM voice (1/60): Rcvd Digit detected(1l) Jan 7 10:00:28.831: R2 Incom ng
Voi ce(1/60): DSX (E1 0:8): STATE: R2_I N _CATEGORY R2 Got Event 1
Jan 7 10: 00: 28.831: CSM PROC_| C1_COLLECT_ADDR | NFO
CSM_EVENT_ADDR | NFO_COLLECTED
(DNl S=567, AN =123) at slot 1, port 60
Jan 7 10: 00: 28. 831: vtsp_tsp_call _accept_check (sdb=0x61DADEEO,
cal I i ng_nunber =123
cal | ed_nunber =567): peer_tag=0
Jan 7 10: 00: 28. 835: VDEV_ALLOCATE: failed to allocate a device
Jan 7 10: 00: 28. 835: VDEV_ALLCCATE_ALMOST_READY: failed to allocate
a non-idl e nodem
Jan 7 10: 00: 28. 835: VDEV_ALLOCATE: failed to allocate a device
Jan 7 10: 00: 28. 835: VDEV_ALLCCATE_ALMOST_READY: failed to allocate



a non-idle nodem
Jan 7 10: 00: 28. 835: VDEV_ALLOCATE: failed to allocate a device
Jan 7 10: 00: 28. 835: VDEV_ALLCCATE_ALMOST_READY: failed to allocate
a non-idle nodem
Jan 7 10:00: 28.835: CSM PROC | C3_WAI T_FOR_RES _RESP: CSM EVENT_RESOURCE_ K
at slot 1,
port 60
Jan 7 10:00: 28.835: vtsp_IC switch : (voice_vdev= 0x61F19688)
Jan 7 10: 00: 28. 835: vtsp_tsp_call_sw tch_ind (cdb=0x61B5BFF8,
t sp_i nf 0=0x61F19688
cal l'i ng_number =123 cal | ed_nunber =567 redirect_nunber=):
peer _tag=123dc_switch: fsm pop()
Jan 7 10: 00: 28. 835: vtsp_do_call _setup_ind
Jan 7 10: 00: 28. 835: vtsp_do_call _setup_ind: Call |D=65581,
gui d=62031A88
Jan 7 10: 00: 28. 835: vtsp_do_call _setup_ind: type=0, under_spec=0,
nanme=b", id0=9
i d1=0, id2=0, calling=123, called=567
Jan 7 10: 00: 28. 835: dsp_cp_tone_off: [] packet_Len=8 channel _i d=4929

packet _i d=71
Jan 7 10: 00: 28. 835: dsp_idle_node: [] packet_Len=8 channel _i d=4929
packet _i d=68

Jan 7 10: 00: 28. 835: dsp_cl ose_voi ce_channel: [] packet_Len=8
channel _i d=4929 packet _i d=75
Jan 7 10: 00: 28. 835: vtsp_tiner_stop: 7063006
Jan 7 10:00: 28.839: csmvtsp_call_setup_resp (vdev_i nfo=0x61F19688,
vt sp_cdb=0x61B5BFF8)
Jan 7 10: 00: 28.839: csmvtsp_call _setup_resp: vdev_comon BP TS
al | ocat edat BP_streanD,

BP_Ch8
Jan 7 10:00: 28.839: csmvtsp_call _setup_resp: DST_tdm chnl call

BP TS all ocatedat stream 5, chan 13,BP_stream O, BP_ch 8
Jan 7 10: 00: 28.839: csmvtsp_call _setup_resp: DST_tdm chnl call

BP TS all ocatedat stream 5, chan 13, BP_stream 0, BP_ch

8vt sp_open_voi ce_and_set _par ans
Jan 7 10: 00: 28. 839: dsp_cl ose_voi ce_channel: [0:1 (17)]

packet _Len=8 channel _i d=4929

packet _i d=75
Jan 7 10: 00: 28. 839: dsp_open_voi ce_channel _20: [0:1 (17)] packet_Len=16
channel _i d=4929

packet _i d=74 al aw_ul aw_sel ect =1 associ at ed_si gnal i ng_channel =0
time_slot=0 serial_port=0
Jan 7 10: 00: 28. 839: dsp_encap_config_20: [0:1 (17)] packet_Len=24
channel _i d=4929

packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0t_vpxcc=0x0
r_vpxcc=0x0
Jan 7 10: 00: 28. 839: dsp_set_playout: [0:1 (17)] packet_Len=18
channel _i d=4929 packet _i d=76 node=1 initial =60 mi n=4 max=200 fax_nom=300
Jan 7 10: 00: 28. 839: dsp_echo_canceller_control: [0:1 (17)]

packet _Len=10 channel _i d=4929

packet _i d=66 fl ags=0x0
Jan 7 10: 00: 28. 839: dsp_set_gains: [0:1 (17)] packet_Len=12
channel _i d=4929 packet _i d=91

i n_gai n=0 out _gai n=0

Jan 7 10: 00: 28. 839: dsp_vad_enable: [0:1 (17)] packet_Len=10
channel _i d=4929 packet _i d=78

t hresh=- 38act _proceedi ng

Jan 7 10: 00: 28. 839: csmvtsp_call _proceedi ng: DST_tdm chnl cal |

BP TS al |l ocat edstream 5,

chan 13, BP_stream 0, BP_ch 8act_alert

Jan 7 10:00: 28. 867: vtsp_ring_noan_tiner_start: 7063009

Jan 7 10:00: 28.867: csmvtsp_call_alert (vtsp_cdb=0x61B5BFF8)

Jan 7 10:00: 28.867: csmyvtsp_call _alert: CSM EVENT_ALERTI NG_RECElI VED
Jan 7 10: 00: 28.867: CSM |IC5_WAI T_FOR SWTCH OVER: at slot 1, port 60



Jan 7 10: 00: 28. 867: CSM EVENT_ALERTI NG_RECEI VED
Jan 7 10:00:28.867: calling alerting_start_event

!--- Note: For nodens, Backward Signal !--- Goup B-6 (subscriber's line free, charge) !--- is
sent imrediately. !--- For voice, it is delayed until alerting is received. !--- Notice that
"R2_REJECT" is printed instead of R2_ALERTING !--- This printing issue is solved in Csco IS

Sof tware Rel ease 12. 1T.

Jan 7 10: 00: 28.867: R2 Inconi ng Voice(1l/60): DSX (E1 0:8):
STATE:R2_IN IDLE R2
Got Event R2_REJECT
Jan 7 10: 00: 28.867: R2_ALERTING: r2_conp_idle
Jan 7 10:00: 28. 867: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=567act _bridge
Jan 7 10:00: 28. 867: dsp_voice_node: [0:1 (17)] packet_Len=24
channel _i d=4929 packet _i d=73
codi ng_type=1 voice_field_size=80 VAD fl ag=0 echo_| engt h=64
confort _noi se=1
i nband_detect=1 digit_relay=2 AGC fl ag=0dsp_dt nf_node
(VTSP_TONE_R2_MF_FORWARD _MODE)
!--- Answer signal (B-6) is sent after alerting is received. !--- Send Backward Signal Group B6
signal (Subscriber's line free, charge). Jan 7 10:00:28.871: dsp_dtnf_node: [0:1 (17)]
packet _Len=10 channel _i d=4929 packet i d=65 dtnf_or_nf=1vtsp_r2_dial vtsp_r2_ dial():
fsmpush(vtsp_r2_state_table) dsp dtmf dialing(): dial_string = 6

Jan 7 10:00: 28.871: dsp_dtnf_dialing: [0:1 (17)] packet_Len=24
channel _i d=4929

packet _i d=90 string=6 digits=1, time_on=65435, tine_off=30

Jan 7 10: 00: 28. 871: digit=, components=2, freq_of_first=900
freq_of _second=780

anp_of first=8192, anp_of_second=8192

Jan 7 10: 00: 28.923: vtsp_process_dsp_nessage: MSG TX DTM- DIG T_BEG N digit=1
rtp_tinestanp=0x001E0006 dc_digit_up

Jan 7 10:00: 28.923: csmvtsp_digit_ready_up (vtsp_cdb=0x61B5BFF8)
received digit (1)

Jan 7 10:00: 28.923: CSMvoice (1/60): Rcvd Digit detected(1)

Jan 7 10:00: 28.923: R2 Inconi ng Voice(1l/60): DSX (E1 0:8):

STATE: R2_IN COMPLETE

R2 Got Event 1

Jan 7 10:00: 28.971: vtsp_process_dsp_nessage: MSG TX DTMF DIG T_OFF: digit=1
durati on=30dc_digit

Jan 7 10:00: 28.971: csmvtsp_digit_ready (vtsp_cdb=0x61B5BFF8)
received digit (1)

Jan 7 10:00: 28.971: CSMvoice (1/60): Rcvd Digit detected(1)

Jan 7 10:00: 28.971: R2 Incomi ng Voice(1l/60): DSX (E1 0:8):

STATE: R2_IN COMPLETE R2

Got Event R2_TONE_OFF
Jan 7 10:00: 28.971: vtsp_r2_generate_digits: vdev_conmon=0x6205E5F8,
string=567dc_di al ()

vt sp_di al _nopush dsp_dtnf_dialing(): dial_string = #
Jan 7 10:00: 28.971: dsp_dtnf_dialing: [0:1 (17)] packet_Len=24
channel _i d=4929

packet _i d=90 string=# digits=1, tine_on=150, tinme_off=30
Jan 7 10: 00: 28. 975: digit=, components=2, freq_of_first=0
freq_of _second=0

anp_of _first=1, anp_of_second=1ds_di al i ng_def aul tds_di al i ng_def aul t
Jan 7 10:00: 29. 127: vtsp_process_dsp_nessage:

MS5G_TX_DI ALI NG_DONEdc_di al i ng_done()
Jan 7 10:00:29.971: R2 Inconmi ng Voice(1l/60): DSX (E1 0:8):

STATE: R2_I N_WAI T_GUARD R2

Got Event R2_TONE_TIMER
Jan 7 10:00:29.971: R2_IN_IDLE: 2 r2_in_connect called
Jan 7 10:00:29.971: R2_I N _CONNECT: call end dial
Jan 7 10:00:29.971: pop the dial state machine
Jan 7 10:00: 29.971: vtsp_r2_end_dial: vdev_comon=0x6205E5F8



string=567ds_end_dial ():

fsm pop() act_caps_ind
Jan 7 10:00: 29.971: act_caps_ind: Encap 1, Vad 2, Codec 0x4,
CodecBytes 20, FaxRate 2,

FaxBytes 20 Signal Type 0 DinfRelay 1, Mddem lact_caps_ack
Jan 7 10:00:29.971: dsp_idle_node: [0:1 (17)] packet_Len=8
channel _i d=4929 packet _i d=68
Jan 7 10:00: 29.971: act_caps_ack: codec = 15, ret =1
Jan 7 10:00: 29.971: dsp_cp_tone_off: [0:1 (17)] packet_Len=8
channel _i d=4929 packet _i d=71
Jan 7 10:00:29.971: dsp_idle_node: [0:1 (17)] packet_Len=8
channel _i d=4929 packet _i d=68
Jan 7 10:00: 29.971: dsp_encap_config_20: [0:1 (17)] packet_Len=24
channel _i d=4929

packet _i d=92 TransportProtocol 2 t_ssrc=0x0 r_ssrc=0x0 t_vpxcc=0x0
r_vpxcc=0x0
Jan 7 10:00: 29.971: dsp_voice_node: [0:1 (17)] packet_Len=24
channel _i d=4929 packet _i d=73

codi ng_type=19 voi ce_fiel d_size=20 VAD fl ag=1 echo_| engt h=64
confort _noi se=1

i nband_detect=1 digit_relay=2 AGC fl ag=0act _al ert_connect
Jan 7 10: 00: 30. 255: vtsp_ring_noan_tiner_stop: 7063148
Jan 7 10: 00: 30. 255: dsp_cp_tone_off: [0:1 (17)] packet_Len=8
channel _i d=4929 packet _i d=71
Jan 7 10: 00: 30. 255: csmvtsp_call _connect (vtsp_cdb=0x61B5BFF8,
voi ce_vdev=0x61F19688)
Jan 7 10: 00: 30. 255: CSM_| C5_WAI T_FOR_SW TCH_OVER:
CSM_EVENT_MODEM _OFFHOOK at slot 1

port 60
Jan 7 10: 00: 30. 607: CSM_RX_CAS_EVENT_FROM NEAT: (0007) :
EVENT_CHANNEL_CONNECTED at slot 1

and port 60
Jan 7 10: 00: 30. 607: CSM PROC_| C6_WAI T_FOR_CONNECT:
CSM_EVENT_DSX0_CONNECTED at sl ot 1,

port 60
Jan 7 10: 00: 30. 607: from NEAT(O): (0/8): TX ANSWERED ( ABCD=0101)
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